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Attempt any five questions.

All guestions carry equal marks.
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I Detine “Accident arising out of " and “Accident i the
course of emplovment™ under the Workmen’s

Compensation Act 1923, {15)
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7. Discuss the Provistons of the lacteries Act 1948

rugarding the “Safeny” of workers, {(1%)
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3. Distinguish between any three ot the following -
{{) Registered and Uncegtstered trade Union
(i1) Partial disabtement and total disablement
{1ii) Arbitration and adjudication
tivy bmplovee and Employer
(v} Contractor and Contract Labour
{vi) Wares and Bonus {3#5=13)
frfofiae & @ &= i\ § s adEe:
(i) goigA 3T NP AR HE



944 ' 3
(iii) frarm dk sfF

(!v)aaﬁamaﬂzﬁaw
{v)m-ﬁwzﬂ : |
|

ivi)ﬁiﬁfﬁaﬂ?a‘ﬂa

4.  Who fixes wage period 7 What is the time of payment
of wages and what deductions can be made from
wages under the payment of Wages Act 1936.

- (3+4+8=15)
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5. 'erite short notes on any three of the following :-
(i) Payment of Bonus Act 1.936
(ii) Payment of Gratuit; Act 1972
(iii) Employees State.lns_urancge Act — 1948

(iv) Contract Labour (Abo];'ition and Regulation) Act
1986

(v) Equal Remuneration Act ~ 1976

1

(vi) Concept- of Labour Laws (3x5=15)
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(i) | "em sfufmE 1936

(i) #=zdt wem shataam 1972
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(i) &1 wm (fufmas st gare) sfafaa 1986
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(vi} 9FFE HEH BT
Define industrial dispute and how to settle an industrial

dispute in accordance with industrial dispute Act -

ty47, (15}

1947 & IR sdfie fraw w28 gdsn W wEwar @ 7

Explain various offences and penalties therefore
provided under the Contract Labour (Abolition and
Regulation) Act 1986, (15)
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Describe the different benefits provided to employecs
under the Employees Stale Insurance Act 19489
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9. * Define trade union ? What are the various functions
|
a.trade union has to perform ? (7+8=15)
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10. Define any five of the following:
1

(i) Wages ' (i) Allocable surplus
(iti} Workman (iv) Emp]oyer |
. (v) Factory . (vi) Gratuity
(vii) Bonus (viit) Strike
(ix) Lock-out (x) Lay-off | (15)
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